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options ls=80 ;

libname death 'c:\death\';

**data step arranging variables;

data all;

set death.a14;

if bltot < 0 then bltot=0;

if totldf lt 1 then delete;

ltotldf=log(totldf);

if dorst=0.00 then dorst=.1;

ldorst=log(dorst);

if dor=0.00 then dor=.1;

ldor=log(dor);

if pctblkst=0.00 then pctblkst=.0001;

lpctblkst=log(pctblkst);

if wbrtst='.' then wbrtst=0.00;

if wbrtst=0.00 then wbrtst=0.001;

lwbrtst=log(wbrtst);

if wbrt='.' then wbrt=0.00;

if wbrt=0.00 then wbrt=0.001;

lwbrt=log(wbrt);

lpctblack=log(pctblack);

lpnindx=log(pnindx);

compnew=comp+1;

if rgrtbklg le 0.00001 then rgrtbklg=.00001;

lrgrtbklg=log(rgrtbklg);

if wvrtst=0.00 then wvrtst=.0001;

lwvrtst=log(wvrtst);

if wvrt=0.0 then wvrt=.0001;

lwvrt=log(wvrt);

if hr2=. then hr2=0.01;

lhr2=log(hr2);

yearn=year-1973;

bltfac=bltot*fac_csld;

lpctblwbrt=lpctblack*lwbrtst;

run;

MODELS

*Baseline model with yearn;
*Andy, cntrelf was the number given relief, with totldf the total number sentenced;

 title1 'Study1: Baseline with yearn';

%inc 'c:\death\glmm800.sas' /nosource;

%glimmix(data=all,

procopt=covtest,

stmts=%str(

 class state year ;

  model cntrelf/totldf =yearn  / solution;

random  state year;

ods output solutionf=sf;

),

error=binomial,

link=logit,

converge=1e-5,

maxit=40,

out=res

)

run;

quit;

data new; set sf;

*gets probability of event for logged variables;
if effect='ldorst' or effect='ldor' or effect='lpctblkst' 

 or effect='lwbrtst' or effect='lpctblack*lwbrtst' 

 or effect='lpctblack' or effect='lpnindx'
 or effect='lrgrtbklg' or effect='lwvrtst' 

 or effect='lwvrt' then newest=2**(estimate);

*gets odds for unlogged variables;
else newest=exp(estimate);

run;

proc print; run;

 title1 'Study1: Analysis 1A';

%inc 'c:\death\glmm800.sas' /nosource;

%glimmix(data=all,

procopt=covtest,

stmts=%str(

 class state year ;

  model cntrelf/totldf =yearn ldor bltot fac_csld bltot*fac_csld lpctblack 

lwbrtst lpctblack*lwbrtst ppindx lpnindx psst / solution;

random  state year;

ods output solutionf=sf;

),

error=binomial,

link=logit,

converge=1e-5,

maxit=40,

out=res

)

run;

quit;

data new; set sf;

*gets probability of event for logged variables;
if effect='ldorst' or effect='ldor' or effect='lpctblkst' 

 or effect='lwbrtst' or effect='lpctblack*lwbrtst' 

 or effect='lpctblack' or effect='lpnindx'
 or effect='lrgrtbklg' or effect='lwvrtst' 

 or effect='lwvrt' then newest=2**(estimate);

*gets odds for unlogged variables;
else newest=exp(estimate);

run;

proc print; run;
